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[lewo e ctynent u uyyasa KommnrorspHa rpaduka. J[Hemnara qomaiisa pabota € MHOTO
necHa 3a Hero. Tol TpsOBa ja HamwWIe Iporpama, KosATo m3depTaBa mpasa oT Ttouka (0, 0) mo
TouKa (a, b), B KOATO LIeIUTE YUCHa @ U b ce BpBEXKAT 110 BpeMe Ha U3IbJIHEHNE Ha [Tporpamara.

[lemo npunara ciaennus anropuTsbM. Toil pazaenst paBHUHATa Ha KBajapaTdera 1x1, kouTto
npeacTaBiIsBaT nmukcenu. Ako mpaBata oT Touka (0, 0) mo Touka (a, b) mpecuua KBagparye B
nmoBeYe OT €JHa TOuYKa, TOBa KBaAparye (MmuKcen) TpsioBa na Obae yepHo. B mpoTuBeH ciyuai
KBaJ[paT4eTo € 0510, KAKTO € M0Ka3aHOo Ha (Qurypara.
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[emo HanpaBu qoMamHOTO cu 32 30 MUHYTH ¥ Cera MCKa Jia pelld MajKo MO-pa3iiudHa
3a7a4a. AKO € 33aJICHO IISUI0 YKCIO NV, ¢ KOJIKO Pa3IMYHH KOMIUICKTa BXOJHU JaHHU HETOBUST
QITOPHUTBHM IIE TTOJTyYH TOYHO N YepHU nukcemna?

Toit ce mHTEpecyBa camo OT mpaBH, 3anousaniy B Touka (0, 0) u 3aBbpIIBAIIM B TOYKA
(a, b), kpaeTo a u b ca nenu nonoxuTeaHu uMcia. Hanumere nmporpama, KosSiTo HAMHpa TO3U
Opoii.

Bxon
[IepBUAT pen cbabpka €AHO IO yucio I — Opoit Ha TecroBuTe mnpumepu. Ha
cinenammre T peaa uma no €HO LU0 MOJIOKUTEIHO YUCIIO M.

H3xon
3a BCEKM TECTOB TMpUMEp HU3BEIAETE €IHO IPI0 4ucio — Opoil Ha mpaBurte, 3a
M3YEpPTaBAHETO HAa KOUTO Ca HYHU TOUYHO N YEpHHU MHKCEa.
Orpannyenns
a>0,6>0
1<N<10"
IIpumep
Bxox HN3xon
2 3
2 11
6

OO0sicHeHne HA MBPBHS IPUMeEP

Tpu npaBu Morar ma ObIaT W3YepTaHU C MOMOITA HA JIBa MUKcena. Te 3aBbpIIBAT B
toukute (1,2), (2,1) u (2,2).
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Problem H.Raster

Pesho is a computer graphics student. He has a homework which is very easy for him. He has to
make a program that draws a line from point (0, 0) to (a, b), where integers a and b are the input
of the program.

He uses the following algorithm. He divides the plane into squares 1x1 — these squares are
pixels. When the line from (0, 0) to (a, b) intersects a square in more than one point, the square
(pixel) will be black. Otherwise it will be white. Look at the example:
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Pesho did his homework in 30 minutes and now he is interested in a slightly different problem.
Given an integer N, for how many different inputs does his algorithm produce exactly N black
pixels?

More precisely, he is only interested in lines beginning in (0, 0) and ending in (a, b), where both
a and b are positive integers. Given N, find out how many of these lines will produce exactly N
black pixels.

Input
The first line of the input file contains an integer T specifying the number of test cases. The
following T lines contain a single positive integer N.

Output
For each test case output one line with one integer — the number of lines that use exactly N black
pixels.

Constraints
a>0,b>0
1<N<10*

Example
Input Output

2 3
2 11
6

Explanation for the first test case
The three good lines are those ending in (1,2), (2,1), and in (2,2).





